8-table 8-round Relay/Bye-Stand movement

ACBLscore (bye-stand after table 8, relay between tables 4/5)

8-table 8-round relay/bye-stand movement
1 set of 8 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8

NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD

MLy 12 1 141 8 4, 1 7 7, 1 6 10 1 5 13| 1 4 16| 1 3 19| 1 2 22
L2y 2 2 4, 2 1 7| 2 8 10 2 7 13| 2 6 16| 2 5 19| 2 4 22| 2 3

mL3y 3 3 7, 3 2 10 3 1 13} 3 8 16| 3 7 19| 3 6 22| 3 5 3 4 4
T8L4| 4 4 100 4 3 13| 4 2 16| 4 1 19| 4 8 22| 4 7 1| 4 6 4 5

TBL5| 5 5 10 5 4 13| 5 3 16 5 2 19| 5 1 22| 5 8 5 7 5 6 7

TBL6f 6 6 13| 6 5 16| 6 4 19 6 3 22| 6 2 6 1 4| 6 8 6 7 10

L7 7 7 16 7 6 19| 7 5 22| 7 4 7 3 4, 7 2 7 1 10 7 8 13

L8| 8 8 19/ 8 7 221 8 6 1] 8 5 4| 8 4 8 3 100 8 2 13| 8 1 16

Bye Stand 22 1 4 7 10 13 16 19




87-table 8-round Relay/Bye-Stand movement [NS Rover]

ACBLscore (bye-stand after table 8, relay between tables 4/5, NS rover)

8%-table 8-round relay/bye-stand movement with NS Rover [NS9]
1 set of 8 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
TBL1 1 1 1 1 8 4 1 7 7 1 6 10 1 5 13 1 4 16| 9 3 19 1 2 22
TBL 2 2 2 4 2 1 7 2 8 10| 9 7 13 2 6 16 2 5 19 2 4 22 2 3
TBL 3 3 3 7 3 2 10 3 1 13 3 8 16 3 7 19 3 6 22 3 5 9 4 4
TBL4| 4 4 10| 4 3 13| 4 2 16| 4 1 19 9 8 22 4 7 1{ 4 6 4 5
TBL 5 5 5 10 5 4 13 5 3 16 5 2 19 5 1 22 5 8 5 7 5 6 7
TBL 6 6 6 13 9 5 16 6 4 19 6 3 22 6 2 6 1 4| 6 8 6 7 10
TBL7 7 7 16 7 6 19 7 5 22 7 4 7 3 4, 9 2 7 1 10 7 8 13
TBL 8 8 8 19 8 7 22 9 6 1 8 5 4| 8 4 8 3 10 8 2 13 8 1 16
Bye Stand 22 1 4 7 10 13 16 19
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814-table 8-round Relay/Bye-Stand movement [NS Rover + Party Table] (only used with late pairs)

MO808EWR.MOV

9-table 8-round relay/bye-stand movement with EW Rover [EW9[ and NS Stationary [NS9]
Fixes a standard 8-table relay 4/5 & bye-stand after 8 with NS Rover for a late pair to 9 full tables
1 set of 8 board groups in play + ideally 1 set for the party table (needed 1st round)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
mL1y 2 12 1 1 8 4, 1 7 7( 1 6 10 1 5 13, 1 4 16| 1 9 19| 1 2 22
BL2y 2 2 4 2 1 7 2 8 10f 2 9 13| 2 6 16| 2 5 19 2 4 22 2 3 1
mL3y 3 3 74 3 2 10 3 1 13y 3 8 16 3 7 19, 3 6 22| 3 5 3 9 4
BL4| 4 4 10| 4 3 13| 4 2 16 4 1 19 4 9 22, 4 7 1, 4 6 4 5 7
TBL5( 5 5 10( 5 4 13| 5 3 16( 5 2 19( 5 1 22, 5 8 5 7 5 6 7
TBL6| 6 6 13| 6 9 16| 6 4 19| 6 3 22| 6 2 6 1 4, 6 8 6 7 10
L7 7 7 16| 7 6 19| 7 5 22 7 4 7 3 4, 7 9 7 1 10 7 8 13
TBL8} 8 8 19( 8 7 221 8 9 1| 8 5 4| 8 4 8 3 100 8 2 13, 8 1 16
L9, 9 9 10, 9 5 16, 9 6 1| 9 7 13| 9 8 22, 9 2 7| 9 3 19| 9 4 4
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10-table 8-round Web movement

WEB1008.MOV

10-table 8-round Web movement; EW pairs skip a table after round 4

2 sets of 8 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8

NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD

mBL1f 12 1 1 1 10 4, 1 S5 7, 1 8 10, 1 6 13| 1 5 16| 1 4 19| 1 3 22
L2y 2 2 4, 2 1 7| 2 10 10 2 9 13| 2 7 16| 2 6 19| 2 5 22| 2 4

TBL3| 3 3 3 2 10 3 1 13} 3 10 16f 3 8 19, 3 7 224 3 6 3 5 4
8L4| 4 4 10 4 3 13| 4 2 16| 4 1 19| 4 9 22| 4 8 4 7 4, 4 6

TBL5( 5 5 13| 5 4 16| 5 3 19| 5 2 22| 5 10 1| 5 9 4| 5 8 5 7 10

TBL6| 6 6 10| 6 5 6 4 4, 6 3 1| 6 1 22| 6 10 19| 6 9 16| 6 8 13

TBL7| 7 7 7 6 4| 7 5 7 4 22 7 2 19| 7 1 16| 7 10 13| 7 9 10
T8L8| 8 8 4| 8 7 8 6 22| 8 5 19, 8 3 16 8 2 13, 8 1 10f 8 10

TBL9| 9 9 9 8 22\ 9 7 19, 9 6 16| 9 4 13| 9 3 104 9 2 9 1 4
TBL10| 10 10 22410 9 19/10 8 1610 7 13|10 5 1010 4 710 3 4|10 2
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10%-table 8-round Web movement [NS Rover]

WEB1008N.MOV

10%-table 8-round Web movement with NS Rover [NS11]; EW pairs skip a table after round 4

2 sets of 8 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
TBL 1 1 1 1 1 10 4 1 9 7 1 8 10 1 6 13 1 5 16 1 4 19 1 3 22 g:
TBL 2 2 2 4| 11 1 7 2 10 10 2 9 13 2 7 16 2 6 19 2 5 22 2 4 %,_
TBL 3 3 3 3 2 10 3 1 13 3 10 16 3 8 19 3 7 22|11 6 3 5 4 E
TBL4| 4 4 10 4 3 13| 11 2 16 4 1 19 4 9 22 4 8 4 7 41 4 6 =
A
TBL5 5 5 13 5 4 16 5 3 19 5 2 22 5 10 1| 11 9 4 5 8 5 7 10 A
TBL 6 6 6 10 6 5 6 4 4 6 3 1 6 1 22 6 10 19 6 9 16| 11 8 13 g:
TBL 7 7 7 7 6 4 7 5 11 4 22 7 2 19 7 1 16 7 10 13 7 9 10 %’_
TBL 8 8 8 4 8 7 8 6 22 8 5 19 8 3 16 8 2 13 8 1 10 8 10 %
(o d
TBL9 9 9 9 8 22 9 7 19 9 6 16 9 4 13 9 3 10 9 2 9 1 4 N
A
TBL10O| 10 10 22| 10 9 19| 10 8 16| 10 7 13| 11 5 10| 10 4 7| 10 3 41 10 2 A
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10%-table 8-round Web movement [NS Rover + Party Table] (Not Recommended, use EW Rover)

WEB1008NSR.MOV

11-table 8-round Web movement with NS Rover [NS11] and EW Stationary [EW11]; EW pairs skip a table after round 4
2 sets of 8 board groups in play + ideally 1 set for the party table (needed 2™ round)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MLy 1 1 1 1 10 4, 12 9 7/ 1 8 10/ 1 6 13| 1 5 16| 1 4 19| 1 3 22 @
L2 2 2 411 1 7| 2 10 10| 2 9 13| 2 7 16| 2 6 19| 2 5 22 2 4 g_
TBL3| 3 3 3 2 10 3 1 13| 3 10 16| 3 8 19| 3 7 22|11 6 3 5 4 E
BL4| 4 4 10 4 3 13|11 2 16| 4 1 19| 4 9 22| 4 8 4 7 4| 4 6 =
A
TBL5| 5 5 13| 5 4 16| 5 3 19| 5 2 22| 5 10 1{11 9 4| 5 8 5 7 10 A
TBL6| 6 6 10| 6 5 6 4 4, 6 3 1] 6 1 22| 6 10 19| 6 9 16|11 8 13 @
TBL7| 7 7 7 6 4| 7 5 11 4 22y 7 2 19, 7 1 16| 7 10 13| 7 9 10 g_
TBL8| 8 8 4| 8 7 8 6 22, 8 5 19 8 3 16, 8 2 13| 8 1 10| 8 10 o
-+
TBLS9| 9 9 9 8 22, 9 7 19, 9 6 16| 9 4 13} 9 3 10, 9 2 9 1 4 N
A
TBL10| 10 10 22(10 9 19|10 8 16|10 7 13|11 5 10{10 4 7|10 3 4|10 2 A
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10%-table 8-round Web movement [EW Rover + Party Table]

WEB1008EWR.MOV

11 table 8-round Web movement with EW Rover [EW11[ and NS Stationary [NS11]; EW pairs skip a table after round 4
2 sets of 8 board groups in play + ideally 1 set for the party table (needed 2™ round)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
TBL 1 1 1 1 1 10 4 1 9 7 1 8 10 1 6 13 1 5 16 1 4 19 1 3 22 g:
TBL 2 2 2 4 2 11 7 2 10 10 2 9 13 2 7 16 2 6 19 2 5 22 2 4 %,_
TBL 3 3 3 3 2 10 3 1 13 3 10 16 3 8 19 3 7 22 3 11 3 5 4 E
TBL4| 4 4 10 4 3 13 4 11 16 4 1 19 4 9 22 4 8 4 7 4 4 6 =
A
TBL 5 5 5 13 5 4 16 5 3 19 5 2 22 5 10 1 5 11 4 5 8 5 7 10 A
TBL 6 6 6 10 6 5 6 4 4 6 3 1 6 1 22 6 10 19 6 9 16 6 11 13 g:
TBL7 7 7 7 6 4 7 5 7 11 22 7 2 19 7 1 16 7 10 13 7 9 10 %’_
TBL 8 8 8 4 8 7 8 6 22 8 5 19 8 16 8 2 13 8 1 10 8 10 %
(o
TBL9 9 9 9 8 22 9 7 19 9 6 16 9 4 13 9 3 10 9 2 9 1 4 N
A
TBL10| 10 10 22| 10 9 19| 10 8 16| 10 7 13| 10 11 10| 10 4 7| 10 3 4| 10 2 1 A
TBL11| 11| 11| 19| 11 1 71 11 2| 16| 11 41221 11 5| 10| 11 9 4| 11 6 1| 11 8| 13 E
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10-table 9-round Web movement

ACBLscore

10-table 9-round Web movement (cannot be shortened)

2 sets of 9 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8 RND 9

NS EW BD|NS EW BD|NS EW BD|NS EW BD|NS EW BD|NS EW BD|NS EW BD|NS EW BD|NS EW BD

ML 1 1 1, 1 10 4, 1 oS5 7,1 8 10, 1 7 13] 1 6 16| 1 5 19 1 4 22| 1 3 25
BL2( 2 2 4, 2 1 7, 2 10 10f 2 9 13| 2 8 16| 2 7 19| 2 6 224 2 5 25| 2 4

TBL3| 3 3 3 2 10 3 1 13| 3 10 16f 3 9 19| 3 8 221 3 7 25| 3 6 3 5 4
TBL4| 4 4 10| 4 3 13| 4 2 16| 4 1 19| 4 10 221 4 9 25| 4 8 4 7 4] 4 6

TBL5( 5 5 13| 5 4 16 5 3 19| 5 2 22|\ 5 1 25 5 10 1| 5 9 4| 5 8 5 7 10

TBL6| 6 6 10| 6 5 6 4 4, 6 3 1| 6 2 25/ 6 1 22| 6 10 19| 6 9 16| 6 8 13

TBL7| 7 7 7 6 4] 7 5 7 4 25\ 7 3 227 219 7 1 16| 7 10 13| 7 9 10
TBL8| 8 8 4| 8 7 8 6 25| 8 5 221 8 4 190 8 3 16 8 2 13| 8 1 10| 8 10

TBL9| 9 9 9 8 25\ 9 7 22,9 6 19 9 5 16, 9 4 13| 9 3 10| 9 2 9 1 4
TBL10| 10 10 25(10 9 22|10 & 19/10 7 1610 6 13|10 5 1010 4 7|10 3 4|10 2
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11-table 9-round Web movement

WEB1109.MOV

11-table 9-round Web movement (can be shortened to 8 rounds but not recommended)

Turns out this movement is not very balanced when shortened to 8 rounds, the party table is a better option (though more work)

2 sets of 9 board groups in play; 9 table standard plus 2 table web; (Boards 13-15 shared once)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8 RND 9
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
mBL1y 12 1 1 1 11 4} 1 10 7 1 9 10 2 8 13} 1 7 16| 1 6 19| 1 5 22| 1 4 25
L2y 2 2 4 2 1 7 2 11 10f 2 10 13, 2 9 16| 2 8 19| 2 7 22| 2 6 25| 2 5
mL3y 3 3 7, 3 2 10 3 1 13| 3 11 16 3 10 19 3 9 221 3 8 25| 3 7 3 6 4
L4 4 4 10 4 3 13| 4 2 16| 4 1 19| 4 11 22| 4 10 25| 4 9 4 8 4, 4 7
TBL5| 5 5 13| 5 4 16 5 3 19 5 2 221 5 1 25| 5 11 5 10 4, 5 9 5 8 10
TBL6| 6 6 16( 6 5 19 6 4 22| 6 3 25| 6 2 6 1 4| 6 11 6 10 10| 6 9 13
L7 7 7 19 7 6 22| 7 5 25| 7 4 7 3 4, 7 2 7 1 10 7 11 13| 7 10 16
TBL8| 8 8 224 8 7 25| 8 6 8 5 4, 8 4 8 3 100 8 2 13} 8 1 16f 8 11 19
TBL9| 9 9 25 9 8 9 7 4, 9 6 9 5 100 9 4 13| 9 3 16f 9 2 19 9 1 22
TBL10| 10 10 1,10 9 4|10 8 10 7 10|10 6 13|10 S5 16|10 4 19|10 3 22|10 2 25
TBL11| 11 11 25|11 10 22411 9 19411 8 16/11 7 1311 6 1011 5 7|11 4 4,11 3 1
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12-table 8-round Web movement

WEB1208.MOV

12-table 8-round Web movement; EW pairs skip a table after round 4
2 sets of 8 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmBL1 1 1 14 1 12 4} 1 11 7| 1 10 10, 12 8 13| 1 7 16| 1 6 19| 1 5 22
L2 2 2 4, 2 1 7| 2 12 10| 2 11 13}, 2 9 16| 2 8 19| 2 7 22| 2 6
TBL3| 3 3 3 2 10y 3 1 13} 3 12 16 3 10 19 3 9 22, 3 8 3 7 4
T8BL4| 4 4 10 4 3 13} 4 2 16| 4 1 19| 4 11 22| 4 10 4 9 4| 4 8
TBL5| 5 5 13 5 4 16| 5 3 19| 5 2 22| 5 12 5 11 4, 5 10 5 9 10
TBL6f 6 6 16 6 5 19| 6 4 22| 6 3 6 1 4| 6 12 6 11 10| 6 10 13
L7 7 7 13| 7 6 10| 7 5 7 4 4, 7 2 7 1 22y 7 12 19| 7 11 16
TBL8| 8 8 10| 8 7 8 6 4] 8 5 8 3 22y 8 2 19 8 1 16| 8 12 13
TBL9| 9 9 9 8 4| 9 7 9 6 221 9 4 19/ 9 3 16 9 2 13| 9 1 10
TBL10| 10 10 4| 10 9 10 8 22110 7 19,10 5 1610 4 13,10 3 10| 10 2
TBL11| 11 11 11 10 2211 9 19|11 8 16|11 6 13|11 5 1011 4 11 3 4
TBL12| 12 12 22|12 11 1912 10 16|12 9 13|12 7 10(12 6 7|12 5 4|12 4
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1274;-table 8-round Web movement [NS Rover]

WEB1208N.MOV

12%-table 8-round Web movement with NS Rover [NS13]; EW pairs skip a table after round 4
2 sets of 8 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
TBL 1 1 1 1 1 12 4 1 11 7 1 10 10 1 8 13 1 7 16 1 6 19 1 5 22
ve)
TBL 2 2 2 4| 13 1 7 2 12 10 2 11 13 2 9 16 2 8 19 2 7 22 2 6 8
TBL 3 3 3 3 2 10 3 1 13 3 12 16 3 10 19| 13 9 22 3 8 3 7 4 &
TBL 4 4 4 10 4 3 13| 13 2 16 4 1 19 4 11 22 4 10 4 9 4 4 8 E
TBL5 5 5 13 5 4 16 5 3 19 5 2 22 5 12 11 4 5 10 5 9 10 5\\
TBL 6 6 6 16 6 5 19 6 4 22| 13 3 6 1 4 6 12 6 11 10 6 10 13
TBL 7 7 7 13 7 6 10 7 5 7 4 4 7 2 7 1 22 7 12 19 7 11 16
ve]
TBL 8 8 8 10 8 7 8 6 4 8 5 8 3 22 8 2 19 8 1 16} 13 12 13 8
TBL9 9 9 9 8 4 9 7 9 6 22| 13 4 19 9 3 16 9 2 13 9 1 10 é
TBL10O| 10 10 41 10 9 10 8 22| 10 7 19| 10 5 16| 10 4 13| 10 3 10| 10 2 E
TBL11| 11 11 11 10 22| 11 9 19| 11 8 16| 11 6 13| 11 5 10| 11 4 11 3 4 5\\
TBL12| 12 12 22| 12 11 19| 12 10 16| 12 9 13| 12 7 10| 12 6 7| 13 5 4| 12 4
o | N|lao|un|r|lw Nk 8 o | N|lo|un|lrlw Nk 8 o | N|jlo|un|rlw Nk 8
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1214-table 8-round Web movement [NS Rover + Party Table] (Not Recommended, use EW Rover)

WEB1208NSR.MOV

13-table 8-round Web movement with NS Rover [NS13] and EW Stationary [EW13]; EW pairs skip a table after round 4
2 sets of 8 board groups in play + ideally 1 set for the party table (needed 1° round)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8

NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD

MmBL1 1 1 14 1 12 4} 1 11 7| 1 10 10, 12 8 13| 1 7 16| 1 6 19| 1 5 22

M™L2 2 2 4,13 1 7| 2 12 10| 2 11 13| 2 9 16| 2 8 19| 2 7 22| 2 6 1

mL3y 3 3 74 3 2 100 3 1 13| 3 12 16| 3 10 1913 9 22| 3 8 3 7 4

T8BL4| 4 4 100 4 3 13713 2 16| 4 1 19| 4 11 22| 4 10 4 9 4| 4 8 7

TBL5| 5 5 13 5 4 16| 5 3 19| 5 2 22| 5 12 11 4| 5 10 5 9 10

TBL6f 6 6 16 6 5 19| 6 4 22|13 3 6 1 4| 6 12 6 11 10| 6 10 13

mL7 7 7 13| 7 6 10, 7 5 7| 7 4 4| 7 2 7 1 22y 7 12 19| 7 11 16

;L8 8 8 10 8 7 7, 8 6 4, 8 5 1} 8 3 221 8 2 19| 8 1 16|13 12 13

ML 9 9 7, 9 8 4, 9 7 1| 9 6 2213 4 19, 9 3 16| 9 2 13, 9 1 10

TBL10| 10 10 4,10 S 110 8 2210 7 19(10 5 16(10 4 13|10 3 10|10 2 7
TBL11 11 11 1,11 10 22411 9 1911 8 16(11 6 1311 5 1011 4 7|11 3 4
TBL12| 12 12 22|12 11 19|12 10 16|12 9 13|12 7 1012 6 7|13 5 4|12 4 1
TBL13| 13 13 10, 2 13 7| 4 13 16| 6 13 1| 9 13 19| 3 13 22|12 13 4| 8 13 13
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PAIR 13 N-S

RD SIT Vs BD
1 13N 13 10-12
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 9N 4 19-21
6 3N 9 22-24
7 12N 5 4-6
8 8N 12 13-15

PAIR 13 N-S

RD SIT Vs BD
1 13N 13 10-12
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 9N 4 19-21
6 3N 9 22-24
7 12N 5 4-6
8 8N 12 13-15

PAIR 13 N-S

RD SIT Vs BD
1 13N 13 10-12
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 9N 4 19-21
6 3N 9 22-24
7 12N 5 4-6
8 8N 12 13-15




1214-table 8-round Web movement [EW Rover + Party Table]

WEB1208EWR.MOV

13-table 8-round Web movement with EW Rover [EW13] and NS Stationary [NS13]; EW pairs skip a table after round 4
2 sets of 8 board groups in play + ideally 1 set for the party table (needed 1° round)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmBL1 1 1 14 1 12 4} 1 11 7| 1 10 10, 12 8 13| 1 7 16| 1 6 19| 1 5 22
L2 2 2 4 2 13 7| 2 12 10| 2 11 13|, 2 9 16| 2 8 19| 2 7 22| 2 6
mL3y 3 3 74 3 2 100 3 1 13| 3 12 16| 3 10 19| 3 13 22| 3 8 3 7 4
T8BL4| 4 4 100 4 3 13| 4 13 16| 4 1 19| 4 11 22| 4 10 4 9 4| 4 8
TBL5| 5 5 13 5 4 16| 5 3 19| 5 2 22| 5 12 5 11 4, 5 10 5 9 10
TBL6f 6 6 16 6 5 19| 6 4 22| 6 13 6 1 4| 6 12 6 11 10| 6 10 13
L7 7 7 13| 7 6 10| 7 5 7 4 4, 7 2 7 1 22y 7 12 19| 7 11 16
TBL8| 8 8 10| 8 7 8 6 4] 8 5 8 3 22y 8 2 19 8 1 16| 8 13 13
TBL9| 9 9 9 8 4| 9 7 9 6 224 9 13 19| 9 3 16 9 2 13| 9 1 10
TBL10| 10 10 4| 10 9 10 8 22110 7 1910 5 16| 10 4 13| 10 10 10 2
TBL11| 11 11 11 10 2211 9 19|11 8 16|11 6 13|11 5 1011 4 11 3 4
TBL12| 12 12 22|12 11 1912 10 16|12 9 13|12 7 10(12 6 7|12 13 4|12 4
TBL13| 13 13 10|13 1 7,13 2 16(13 3 1,13 4 1913 9 22(13 5 4|13 12 13

>> T 319§ pieog

m >> 7 39S pieogq



PAIR 13 E-W

RD SIT Vs BD
1 13E 13 10-12
2 2E 2 7-9
3 4E 4 16-18
4 6E 6 1-3
5 9E 9 19-21
6 3E 3 22-24
7 12E 12 4-6
8 8E 12 13-15

PAIR 13 E-W

RD SIT Vs BD
1 13E 13 10-12
2 2E 2 7-9
3 4E 4 16-18
4 6E 6 1-3
5 9E 9 19-21
6 3E 3 22-24
7 12E 12 4-6
8 8E 12 13-15

PAIR 13 E-W

RD SIT Vs BD
1 13E 13 10-12
2 2E 2 7-9
3 4E 4 16-18
4 6E 6 1-3
5 9E 9 19-21
6 3E 3 22-24
7 12E 12 4-6
8 8E 12 13-15




12-table 9-round Web movement

ACBLscore

12-table 9-round Web movement (cannot be shortened)

2 sets of 9 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8 RND 9
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmBL1 1 1 1 1 12 4, 1 11 7| 1 10 10, 12 9 13, 1 8 16| 1 7 19| 1 6 22| 1 5 25
L2 2 2 4, 2 1 7| 2 12 10, 2 11 13| 2 10 16| 2 9 19| 2 8 22| 2 7 25| 2 6
TBL3| 3 3 3 2 10 3 1 13} 3 12 16 3 11 19} 3 10 22y 3 9 25| 3 8 3 7 4
8L4| 4 4 10 4 3 13| 4 2 16| 4 1 19| 4 12 22| 4 11 25| 4 10 4 9 4, 4 8
TBL5| 5 5 13| 5 4 16 5 3 19| 5 2 22| 5 1 25| 5 12 5 11 4, 5 10 5 9 10
TBL6f 6 6 16 6 5 19 6 4 22| 6 3 25|\ 6 2 1] 6 1 4| 6 12 6 11 10| 6 10 13
L7 7 7 13 7 6 10| 7 5 7 4 4, 7 3 1, 7 2 25\ 7 1 22 7 12 19| 7 11 16
TBL8| 8 8 10| 8 7 8 6 4] 8 5 8 4 25 8 3 22 8 2 19 8 1 16| 8 12 13
TBL9| 9 9 9 8 4] 9 7 9 6 25| 9 5 22/ 9 4 19 9 3 16 9 2 13| 9 1 10
TBL10| 10 10 4|10 9 10 8 25,10 7 22|10 6 19,10 5 16|10 4 13| 10 3 10| 10 2
TBL11| 11 11 11 10 2511 9 22|11 8 19|11 7 16|11 6 13|11 5 10|11 4 11 3 4
TBL12| 12 12 25|12 11 2212 10 1912 9 16|12 8 13|12 7 10|12 6 712 5 4|12 4

>> T 319§ pieogq

>> 7 39S pieogq



13-table 9-round Web movement

WEB1309.MOV

13-table 9-round Web movement (can be shortened to 8 rounds but not recommended)
Turns out this movement is not very balanced when shortened to 8 rounds, the party table is a better option (though more work)

3 sets of 9 board groups in play; 9 table standard plus 4 table web; (Boards 1-3, 13-15, 16-18 are needed in set 3)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8 RND 9
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
TmBL1 1 1 1 1 13 4 1 12 7| 1 11 10 1 10 13, 1 9 16| 1 8 19| 1 7 22| 1 6 25
L2 2 2 4( 2 1 7{ 2 13 10, 2 12 13| 2 11 16| 2 10 19| 2 9 22| 2 8 25| 2 7
mL3y 3 3 7 3 2 10 3 1 13} 3 13 16| 3 12 19} 3 11 22| 3 10 25| 3 9 3 8 4
TBL4| 4 4 10| 4 3 13| 4 2 16f 4 1 19| 4 13 22| 4 12 25| 4 11 4 10 4| 4 9
TBL5| 5 5 13| 5 4 16 5 3 19| 5 2 22 5 1 25| 5 13 5 12 4| 5 11 5 10 10
TBL6| 6 6 16 6 5 19| 6 4 22| 6 3 25| 6 2 6 1 4| 6 13 6 12 10| 6 11 13
L7 7 7 19 7 6 22\ 7 5 25| 7 4 7 3 4, 7 2 7 1 10 7 13 13| 7 12 16
TBL8| 8 8 221 8 7 25| 8 6 8 5 4, 8 4 8 3 100 8 2 13| 8 1 16| 8 13 19
TBL9| 9 9 25| 9 8 9 7 4, 9 6 9 5 10f 9 4 13| 9 3 16f 9 2 19| 9 1 22
TBL10| 10 10 10 9 4|10 8 10 7 10|10 6 13|10 S5 16|10 4 19|10 3 22|10 2 25
TBL11| 11 11 4| 11 10 11 9 1011 8 13|11 7 16|11 6 19|11 S5 22|11 4 25,11 3
TBL12| 12 12 12 11 25|12 10 22|12 9 19|12 8 16|12 7 13,12 6 10|12 5 12 4 4
TBL13| 13 13 25| 13 12 22|13 11 19,13 10 1613 9 13(13 8 10(13 7 7(13 6 4|13 5

>> T 196 pJeog



14-table 8-round Web movement

WEB1408.MOV

14-table 8-round Web movement; EW pairs skip a table after round 4
2 sets of 8 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmL1f 1 1 1 1 14 4| 1 13 7| 1 12 10| 1 10 13| 1 9 16| 1 8 19| 1 7 22
L2 2 2 4, 2 1 7| 2 14 10| 2 13 13| 2 11 16| 2 10 19| 2 9 22, 2 8 1
mBL3f 3 3 7 3 2 100 3 1 13| 3 14 16| 3 12 19| 3 11 22| 3 10 3 9 4
TBL4| 4 4 10 4 3 13| 4 2 16| 4 1 19| 4 13 22| 4 12 4 11 4, 4 10 7
TBL5( 5 5 13| 5 4 16| 5 3 19| 5 2 22| 5 14 1| 5 13 4| 5 12 5 11 10
TBL6( 6 6 16| 6 5 19| 6 4 22| 6 3 1| 6 1 4| 6 14 6 13 10| 6 12 13
mL7( 7 7 19 7 6 22\ 7 5 1| 7 4 4\ 7 2 7| 7 1 10| 7 14 13| 7 13 16
L8 8 8 16 8 7 13| 8 6 10 8 5 7, 8 3 4] 8 2 1| 8 1 22| 8 14 19
TBL9| 9 9 13| 9 8 10| 9 7 9 6 4, 9 4 1| 9 3 22/ 9 2 19 9 1 16
TBL10| 10 10 10| 10 9 10 8 4,10 7 110 5 22110 4 19,10 3 16| 10 2 13
TBL11| 11 11 11 10 4|11 9 11 8 22111 6 19|11 5 16|11 4 13|11 3 10
TBL12| 12 12 4| 12 11 12 10 22112 9 19|12 7 16|12 6 13|12 5 10| 12 4
TBL13| 13 13 13 12 22|13 11 19|13 10 1613 8 13(13 7 10| 13 6 13 5 4
TBL14| 14 14 22| 14 13 19| 14 12 16| 14 11 13|14 9 10|14 8 7|14 7 4|14 6

>> T 19§ pieog

>> 7 19§ pieog



147;-table 8-round Web movement [NS Rover]

WEB1408N.MOV

14%-table 8-round Web movement with NS Rover (NS15); EW pairs skip a table after round 4
2 sets of 8 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
TBL 1 1 1 1 1 14 4 1 13 7 1 12 10 1 10 13 1 9 16 1 8 19 1 7 22
TBL 2 2 2 4| 15 1 7 2 14 10 2 13 13 2 11 16 2 10 19 2 9 22 2 8 1 87
TBL3 3 3 7 3 2 10 3 1 13 3 14 16 3 12 19 3 11 22 3 10 3 9 4 %,_
TBL 4 4 4 10 4 3 13| 15 2 16 4 1 19 4 13 22 4 12 4 11 4 4 10 7 E
TBL5 5 5 13 5 4 16 5 3 19 5 2 22 5 14 1 5 13 4 5 12 15 11 10 =
A
TBL 6 6 6 16 6 5 19 6 4 22| 15 3 1 6 1 4 6 14 6 13 10 6 12 13 A
TBL7 7 7 19 7 6 22 7 5 1 7 4 4 7 2 7 7 1 10 7 14 13 7 13 16
TBL 8 8 8 16 8 7 13 8 6 10 8 5 7 8 3 4 8 2 1 8 1 22 8 14 19
TBL9 9 9 13 9 8 10 9 7 9 6 4 9 4 1 9 3 22 9 2 19 9 1 16 g:
TBL10| 10 10 10| 10 9 10 8 41 10 7 1| 15 5 22| 10 4 19| 10 3 16| 10 2 13 %’_
TBL11| 11 11 11 10 4| 11 9 11 8 22| 11 6 19| 11 5 16| 11 4 13| 11 3 10 %
(o
TBL12| 12 12 4| 12 11 12 10 22| 12 9 19| 12 7 16| 15 6 13| 12 5 10| 12 4 N
A
TBL13| 13 13 13 12 22| 13 11 19| 13 10 16| 13 8 13| 13 7 10| 13 6 13 5 4 A
TBL14| 14 14 22| 14 13 19| 14 12 16| 14 11 13| 14 9 10| 14 8 7| 15 7 41 14 6
o | N|lo|un|r|lw Nk 8 o | N|lo|un|rlw Nk 8 o | N|lo|un|r|lw Nk 8
[N IR YT W [N IR Y W [N IR Y W
222 (2(2|2 (2|55 2|z |2|2|2|2|2|5|5|3 2|z |2|2|2|2|2|5|5|3
X X X
N N N
SlN|joju|lw|Nn|k S ; SlN|jo|lu|lw|[Nn|k S ; SlNjoju|lw|[Nn|k S ;
) & )
= N = = SN = = RN =
olr|lw|N|R,r ||~ w olr|lw|(N|k,r ||~ w olr|lw|N|R,r ||~ w
Rla|lkr|N|b|m|o o Rla|lkr|[N|b|m|o o Rla|lkr|[N|b|m|o o
) TN ) ) RN 00 ) RN 00




14~-table 8-round Web movement [NS Rover + Party Table] (Not Recommended, use EW Rover)

WEB1408NSR.MOV

15-table 8-round Web movement with NS Rover [NS15] and EW Stationary [EW15]; EW pairs skip a table after round 4
2 sets of 8 board groups in play + ideally 1 set for the party table (needed 2™ round)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmL1f 1 1 1 1 14 4| 1 13 7| 1 12 10| 1 10 13| 1 9 16| 1 8 19| 1 7 22
BL2( 2 2 4415 1 7| 2 14 10| 2 13 13| 2 11 16| 2 10 19| 2 9 22, 2 8 1
mBL3f 3 3 7 3 2 100 3 1 13| 3 14 16| 3 12 19| 3 11 22| 3 10 3 9 4
TBL4| 4 4 10 4 3 13|15 2 16| 4 1 19| 4 13 22| 4 12 4 11 4, 4 10 7
TBL5( 5 5 13| 5 4 16| 5 3 19| 5 2 22| 5 14 1| 5 13 4| 5 12 15 11 10
TBL6( 6 6 16 6 5 19| 6 4 22|15 3 1| 6 1 4| 6 14 6 13 10| 6 12 13
mL7( 7 7 19 7 6 22\ 7 5 1| 7 4 4\ 7 2 7| 7 1 10| 7 14 13| 7 13 16
L8 8 8 16 8 7 13| 8 6 10 8 5 7, 8 3 4] 8 2 1| 8 1 22| 8 14 19
TBL9| 9 9 13| 9 8 10| 9 7 9 6 4, 9 4 1| 9 3 22/ 9 2 19 9 1 16
TBL10| 10 10 10| 10 9 10 8 4,10 7 1|15 5 22110 4 19|10 3 16| 10 2 13
TBL11| 11 11 11 10 4|11 9 11 8 22111 6 19|11 5 16|11 4 13|11 3 10
TBL12| 12 12 4| 12 11 12 10 22112 9 19|12 7 16|15 6 13|12 5 10| 12 4
TBL13| 13 13 13 12 22|13 11 19|13 10 1613 8 13(13 7 10| 13 6 13 5 4
TBL14| 14 14 22| 14 13 19| 14 12 16| 14 11 13|14 9 10|14 8 7|15 7 4|14 6
TBL15| 15 15 19| 2 15 7| 4 15 16| 6 15 110 15 22|12 15 13|14 15 4| 5 15 10

>> T 19§ pieog

>> 7 19§ pieog



PAIR 15 N-S

RD SIT VS BD
1 15N 15 19-21
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 10N 5 22-24
6 12N 6 13-15
7 14N 7 4-6
8 5N 10 10-12

PAIR 15 N-S

RD SIT VS BD
1 15N 15 19-21
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 10N 5 22-24
6 12N 6 13-15
7 14N 7 4-6
8 5N 10 10-12

PAIR 15 N-S

RD SIT VS BD
1 15N 15 19-21
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 10N 5 22-24
6 12N 6 13-15
7 14N 7 4-6
8 5N 10 10-12




14~-table 8-round Web movement [EW Rover + Party Table]

WEB1408EWR.MOV

15-table 8-round Web movement with EW Rover [EW15] and NS Stationary [NS15]; EW pairs skip a table after round 4
2 sets of 8 board groups in play + ideally 1 set for the party table (needed 2™ round)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmL1f 1 1 1 1 14 4| 1 13 7| 1 12 10| 1 10 13| 1 9 16| 1 8 19| 1 7 22
TBL2( 2 2 4 2 15 7| 2 14 10| 2 13 13| 2 11 16| 2 10 19| 2 9 22, 2 8 1
mBL3f 3 3 7 3 2 100 3 1 13| 3 14 16| 3 12 19| 3 11 22| 3 10 3 9 4
TBL4| 4 4 10 4 3 13| 4 15 16| 4 1 19| 4 13 22| 4 12 4 11 4, 4 10 7
TBL5( 5 5 13| 5 4 16| 5 3 19| 5 2 22| 5 14 1| 5 13 4| 5 12 5 15 10
TBL6f 6 6 16f 6 5 19| 6 4 22| 6 15 1| 6 1 4| 6 14 6 13 10| 6 12 13
mL7( 7 7 19 7 6 22\ 7 5 1| 7 4 4\ 7 2 7| 7 1 10| 7 14 13| 7 13 16
BL8| 8 8 16 8 7 13| 8 6 10| 8 5 7| 8 4, 8 2 1 8 1 224 8 14 19
TBL9| 9 9 13| 9 8 10| 9 7 9 6 4, 9 4 1| 9 3 22/ 9 2 19 9 1 16
TBL10| 10 10 10| 10 9 10 8 4,10 7 1|10 15 22|10 4 19|10 3 16| 10 2 13
TBL11| 11 11 11 10 4|11 9 11 8 22111 6 19|11 5 16|11 4 13|11 3 10
TBL12| 12 12 4| 12 11 12 10 22112 9 19|12 7 16|12 15 13|12 5 10| 12 4
TBL13| 13 13 13 12 22|13 11 19|13 10 1613 8 13(13 7 10| 13 6 13 5 4
TBL14| 14 14 22| 14 13 19| 14 12 16| 14 11 13|14 9 10|14 8 7|14 15 4|14 6
TBL15| 15 15 19|15 1 7(15 2 16(15 3 1}15 5 22115 6 13|15 7 415 11 10

>> T 19§ pieog

>> 7 19§ pieog



PAIR 15 E-W

RD SIT VS BD
1 15E 15 19-21
2 2E 2 7-9
3 4E 4 16-18
4 6E 6 1-3
5 10E 10 22-24
6 12E 12 13-15
7 14E 14 4-6
8 5E 5 10-12

PAIR 15 E-W

RD SIT VS BD
1 15E 15 19-21
2 2E 2 7-9
3 4E 4 16-18
4 6E 6 1-3
5 10E 10 22-24
6 12E 12 13-15
7 14E 14 4-6
8 5E 5 10-12

PAIR 15 E-W

RD SIT VS BD
1 15E 15 19-21
2 2E 2 7-9
3 4E 4 16-18
4 6E 6 1-3
5 10E 10 22-24
6 12E 12 13-15
7 14E 14 4-6
8 5E 5 10-12




14-table 9-round Web movement

ACBLscore

14-table 9-round Web movement (cannot be shortened)
2 sets of 9 board groups in play

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8 RND 9
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmBL1y 1 1 1 1 14 4 1 13 7 1 12 10f 1 11 13}, 1 10 16 1 9 19, 1 8 22| 1 7 25
L2 2 2 4( 2 1 7 2 14 10| 2 13 13| 2 12 16| 2 11 19| 2 10 22, 2 9 25| 2 8
mL3, 3 3 7 3 210 3 1 13| 3 14 16| 3 13 19| 3 12 22| 3 11 25| 3 10 3 9 4
TBL4| 4 4 10 4 3 13| 4 2 16| 4 1 19| 4 14 22| 4 13 25| 4 12 4 11 4| 4 10
TBL5| 5 5 13 5 4 16( 5 3 19| 5 2 2201 5 1 25| 5 14 5 13 4| 5 12 5 11 10
TBL6| 6 6 16 6 5 19/ 6 4 22/ 6 3 25| 6 2 6 1 4| 6 14 6 13 10| 6 12 13
L7y 7 7 19 7 6 22 7 5 25 7 4 1| 7 3 7 2 7 1 10, 7 14 13| 7 13 16
TBL8| 8 8 16| 8 7 13| 8 6 10| 8 5 8 4 8 3 1} 8 2 25 8 1 221 8 14 19
TBL9| 9 9 13| 9 8 10| 9 7 9 6 4, 9 5 9 4 25| 9 3 2201 9 2 19 9 1 16
TBL10| 10 10 10| 10 9 10 8 4|10 7 10 6 25|10 5 22|10 4 19,10 3 16| 10 2 13
TBL11| 11 11 11 10 4|11 9 11 8 25|11 7 22|11 6 19|11 5 16|11 4 13|11 3 10
TBL12| 12 12 4| 12 11 12 10 25|12 9 22|12 8 19|12 7 16|12 6 13|12 5 10|12 4
TBL13| 13 13 13 12 25| 13 11 22| 13 10 19|13 9 16|13 8 13|13 7 10| 13 6 13 5 4
TBL14| 14 14 25| 14 13 22| 14 12 19|14 11 16| 14 10 13|14 9 10|14 8 7(14 7 4,14 6

>> T 196 pJeog

>> ¢ 136 pJeog



15-table 9-round Web movement

WEB1509.MOV

15-table 9-round Web movement (can be shortened to 8 rounds but not recommended)

Turns out this movement is not very balanced when shortened to 8 rounds, the party table is a better option (though more work)

3 sets of 9 board groups in play; 9 table standard plus 6 table web; (Boards 1-3, 4-6, 7-9, 16-18, 19-21 are needed in set 3)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8 RND 9
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmBL1y 1 1 1 1 15 4} 1 14 7| 1 13 10 1 12 13| 1 11 16| 1 10 19| 1 9 22| 1 8 25
L2 2 2 4, 2 1 7| 2 15 10f 2 14 13| 2 13 16| 2 12 19| 2 11 22| 2 10 25| 2 9
mL3y 3 3 7 3 2 100 3 1 13} 3 15 16| 3 14 19| 3 13 22| 3 12 25| 3 11 3 10 4
T8L4| 4 4 10 4 3 13| 4 2 16| 4 1 19| 4 15 22| 4 14 25| 4 13 4 12 4] 4 11
TBL5| 5 5 13| 5 4 16 5 3 19| 5 2 221 5 1 25| 5 15 5 14 4| 5 13 5 12 10
TBL6| 6 6 16( 6 5 19 6 4 22| 6 3 25| 6 2 6 1 4, 6 15 6 14 10 6 13 13
L7 7 7 19 7 6 22| 7 5 25| 7 4 7 3 4, 7 2 7 1 10f 7 15 13| 7 14 16
TBL8| 8 8 224 8 7 25| 8 6 8 5 4, 8 4 8 3 100 8 2 13} 8 1 16| 8 15 19
TBL9| 9 9 25 9 8 9 7 4, 9 6 9 5 10f 9 4 13| 9 3 16 9 2 19| 9 1 22
TBL10| 10 10 1,10 9 4|10 8 10 7 10|10 6 13|10 S5 16|10 4 19,10 3 22|10 2 25
TBL11| 11 11 4 11 10 11 9 1011 8 1311 7 16|11 6 19|11 5 22|11 4 25|11 3 1
TBL12| 12 12 7|12 11 10|12 10 13|12 9 16|12 8 19,12 7 22|12 6 25|12 5 1|12 4 4
TBL13| 13 13 4 13 12 1|13 11 25(13 10 22(13 9 1913 8 16|13 7 13|13 6 10|13 5 7
TBL14| 14 14 1|14 13 25|14 12 22|14 11 19|14 10 16| 14 9 13|14 8 10| 14 7 14 6 4
TBL15| 15 15 25|15 14 22|15 13 19|15 12 16|15 11 1315 10 1015 9 715 8 4|15 7 1

>> T 196 pJeog

>> ¢S4

>> g sd



16-table 8-round Web movement

WEB1608.MOV

16-table 8-round Web movement; EW pairs skip a table after round 4

2 sets of 8 board groups in play (Note both sets run head to tail)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
MmL1 1 1 1 1 16 4} 1 15 7| 1 14 10 1 12 13} 1 11 16| 1 10 19| 1 9 22
L2 2 2 4, 2 1 7| 2 16 10f 2 15 13| 2 13 16| 2 12 19| 2 11 22| 2 10
mL3y 3 3 74 3 2 100 3 1 13| 3 16 16| 3 14 19| 3 13 22| 3 12 3 11 4
TBL4| 4 4 10 4 3 13| 4 2 16| 4 1 19| 4 15 22| 4 14 4 13 4] 4 12
TBL5| 5 5 13| 5 4 16 5 3 19 5 2 22| 5 16 5 15 4| 5 14 5 13 10
TBL6f 6 6 16 6 5 19| 6 4 22| 6 3 6 1 4| 6 16 6 15 10| 6 14 13
L7 7 7 19 7 6 22| 7 5 7 4 4, 7 2 7 1 10 7 16 13| 7 15 16
TBL8| 8 8 22 8 7 8 6 4, 8 5 8 3 100 8 2 13| 8 1 16| 8 16 19
TBL9| 9 9 9 8 4| 9 7 9 6 10f 9 4 13| 9 3 16 9 2 19| 9 1 22
TBL10| 10 10 4| 10 9 10 8 10,10 7 13,10 5 16|10 4 19|10 3 22|10 2
TBL11| 11 11 11 10 10|11 9 13|11 8 16|11 6 19|11 5 22|11 4 11 3 4
TBL12| 12 12 10| 12 11 13|12 10 16|12 9 19|12 7 22|12 6 12 5 4|12 4
TBL13| 13 13 13| 13 12 16| 13 11 19| 13 10 22| 13 8 13 7 4|13 6 13 5 10
TBL14| 14 14 16| 14 13 19| 14 12 22| 14 11 14 9 4|14 8 14 7 10| 14 6 13
TBL15| 15 15 19| 15 14 22| 15 13 15 12 4| 15 10 15 9 10|15 8 13|15 7 16
TBL16| 16 16 22|16 15 1|16 14 4| 16 13 16 11 10| 16 10 13|16 9 16| 16 8 19

>> T 319§ pieog

>> 7 19§ pieogq



16%-table 8-round Web movement [NS Rover]

WEB1608N.MOV

16%-table 8-round Web movement with NS Rover (NS17); EW pairs skip a table after round 4
2 sets of 8 board groups in play (Note both sets run head to tail)

RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
mL1f 1 1 1 1 16 4} 1 15 7| 1 14 10 1 12 13| 1 11 16| 1 10 19| 1 9 22
TBL2( 2 2 4117 1 7| 2 16 10| 2 15 13| 2 13 16| 2 12 19| 2 11 22| 2 10
mL3f 3 3 7, 3 2 100 3 1 13| 3 16 16| 3 14 19| 3 13 22| 3 12 3 11 4
TBL4| 4 4 10 4 3 13;17 2 16| 4 1 19| 4 15 22| 4 14 4 13 4] 4 12
TBL5( 5 5 13| 5 4 16 5 3 19| 5 2 22| 5 16 5 15 4| 5 14 5 13 10
TBL6| 6 6 16f 6 5 19| 6 4 22|17 3 6 1 4| 6 16 6 15 10| 6 14 13
8L7| 7 7 19 7 6 22| 7 5 7 4 4, 7 2 7 1 10 7 16 13| 7 15 16
TBL8| 8 8 22| 8 7 8 6 4] 8 5 8 3 100 8 2 13| 8 1 16| 8 16 19
TBL9| 9 9 9 8 4] 9 7 9 6 1017 4 13| 9 3 16| 9 2 19| 9 1 22
TBL10| 10 10 4| 10 9 10 8 10,10 7 13|10 5 16|10 4 19|10 3 22|10 2
TBL11| 11 11 11 10 1011 9 13|11 8 16|11 6 19|17 5 22|11 4 11 3 4
TBL12| 12 12 10| 12 11 13|12 10 16|12 9 19|12 7 22|12 6 12 5 4112 4
TBL13| 13 13 13| 13 12 16| 13 11 19| 13 10 22| 13 8 13 7 4113 6 13 5 10
TBL14| 14 14 16| 14 13 19| 14 12 22,14 11 1,14 9 4|14 8 17 7 10| 14 6 13
TBL15|15 15 19|15 14 22|15 13 15 12 4]15 10 15 9 10|15 8 13|15 7 16
TBL16 |16 16 22|16 15 1|16 14 4|16 13 16 11 10|16 10 13|16 9 16|17 8 19

>> T 319§ pieog

>> 7 19S pieog



PAIR 17 N-S

RD SIT VS BD
1 BYE
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 9N 4 13-15
6 11N 5 22-24
7 14N 7 10-12
8 16N 8 19-21
PAIR 17 N-S
RD SIT VS BD
1 BYE
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 9N 4 13-15
6 11N 5 22-24
7 14N 7 10-12
8 16N 8 19-21
PAIR 17 N-S
RD SIT VS BD
1 BYE
2 2N 1 7-9
3 4N 2 16-18
4 6N 3 1-3
5 9N 4 13-15
6 11N 5 22-24
7 14N 7 10-12
8 16N 8 19-21




16'~-table 8-round Web movement [NS Rover + Party Table] (Not Recommended, use EW Rover)

WEB1608NSR.MOV

17-table 8-round Web movement with NS Rover [NS17] and EW Stationary [EW17]; EW pairs skip a table after round 4

2 sets of 8 board groups in play (Note both sets run head to tail) + ideally 1 set for the party table (needed 1°*t round)
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PAIR 17 N-S

RD SIT VS BD

1 17N 17 4-6

2 2N 1 7-9

3 4N 2 16-18
4 6N 3 1-3

5 9N 4 13-15
6 11N 5 22-24
7 14N 7 10-12
8 16N 8 19-21
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16'~-table 8-round Web movement [EW Rover + Party Table]

WEB1608EWR.MOV

17-table 8-round Web movement with EW Rover [EW17] and NS Stationary [NS17]; EW pairs skip a table after round 4

2 sets of 8 board groups in play (Note both sets run head to tail) + ideally 1 set for the party table (needed 1°*t round)
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RND 1 RND 2 RND 3 RND 4 RND 5 RND 6 RND 7 RND 8
NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD| NS EW BD
mL1f 1 1 1 1 16 4} 1 15 7| 1 14 10 1 12 13| 1 11 16| 1 10 19| 1 9 22
T8BL2( 2 2 4, 2 17 7| 2 16 10| 2 15 13| 2 13 16| 2 12 19| 2 11 22| 2 10
mL3f 3 3 7, 3 2 100 3 1 13| 3 16 16| 3 14 19| 3 13 22| 3 12 3 11 4
TBL4| 4 4 10 4 3 13| 4 17 16| 4 1 19| 4 15 22| 4 14 4 13 4] 4 12
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T8L17 |17 17 4|17 1 7|17 2 16|17 3 1|17 4 1317 5 22|17 7 10|17 8 19
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16-table 9-round Web movement

ACBLscore

16-table 9-round Web movement (cannot be shortened)
2 sets of 9 board groups in play
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17-table 9-round Web movement

WEB1709.MOV

17-table 9-round Web movement (can be shortened to 8 rounds but not recommended)
Turns out this movement is not very balanced when shortened to 8 rounds, the party table is a better option (though more work)

3 sets of 9 board groups in play; 9 table standard plus 8 table web
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18-table 8-round Web movement

WEB1808.MOV

18-table 8-round Web movement; EW pairs skip a table after round 4

3 sets of 8 board groups in play; 8 table standard plus 10 table web
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18-table 9-round Web movement

ACBLscore

18-table 9-round Web movement (cannot be shortened)
2 sets of 9 board groups in play
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19-table 9-round Web movement

WEB1909.MOV

19-table 9-round Web movement (can be shortened to 8 rounds but not recommended)
Turns out this movement is not very balanced when shortened to 8 rounds
3 sets of 9 board groups in play; 9 table standard plus 10 table web
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20-table 8-round Web movement

WEB2008.MOV

20-table 8-round Web movement; EW pairs skip a table after round 4

3 sets of 8 board groups in play; 8 table standard plus 12 table web
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20-table 9-round Web movement

ACBLscore

20-table 9-round Web movement (cannot be shortened)
3 sets of 9 board groups in play; 2 sets of 9 table standard plus 2 table web; (Boards 13-15 shared once)
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